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Question numbers 1 to 4 carry one mark each
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General Instructions:

1. All questions are compulsory.

2. The question paper consists of 31
D. Section-A comprises of 4 ques
questions of 2 marks each; Sectio

questions divided into four sections A, B, C and
ions of 1 mark each; Section-B comprises of 6
-C comptises of 10 questions of 3 marks each and

Section-D comprises of 11 questidns of 4 marks each.
3. There is no overall choice in this cwuesu‘on paper.

4. Use of calculator is not permitted.

TUE-37 / SECTION-A

- _
P %m_mw&ﬁﬁmwf&ﬁm&t _




Write the rationalising factor of the denominator in Jz- :_ 7
2 6(x + 1)(x +2) SIS + 1) F FH-1 HEE TS &7 o 1

Which factor is common in 6(x +1)(x +2) and 9(:3+1) ?

@ AABC = APQR R %1 w9 & = i fm % % AB-4 cm, £B=90°, 1
~+ BC=3cm PQ=4cm N LQ=00-%| T, G g e 3 et

AABC = APQR is given. Also, it is given that AB=4 cm, ZB=90,
BC=3cm, PQ 4 cmand £Q=90°. Then, write the information which is left out.

4 fag AG,5) # r-a1 A g0 ferfian i ol = ' 1

Write the distance of point A(3, 5) from x-axis.

WUZ-T / SECTION-B

WA WA 59 10§ W&F F 2 3 T

Question numbers 5 to 10 carry two marks each.

5 - 2
J‘—J‘ %mw#ﬁﬁ?ﬂmml

1
Rationalise the denominator of -
7= -\/6

@ Aa +b+c=—18Mab + be + ca = ~4 8, Ma? + b2+ 2% A 3 Fifew) 2
f a+ b + ¢ =-1 and ab + be + ca =—4, then find the value of
a2 + b2+ 2, ' '

7 A2 & aifeemonedl | ReR w000 ' B
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@ & *u Y W W A Big frm ¥ F ow @ w fem W@ R
iR frerfafaa gve & I Eife
(a) A5 SAfquronsl § #i¢ sraftuiia ug §2
(b) A gfoere wi Afiuronsti § wa S 827 T wifwT)

Consider two postulates given below :

(i) Given any two distinct points R and S, there exists a third point T which is in between
RandS.

(i)  There exist at least three points which are not in the same straight line and answer the
following questions :
(a) Do these postulates contain any undefined terms ?
(b) Do they follow from Euclid’s postulates ? Explain.

< Y@t AB iR CD e O W whrede we § (3fay a?lqﬂ%f)lirﬁupoaaw #R «POC=30° 2
%, @ £BOD &R ZAOD ¥ia &ifvg |

i

Two lines AB and CD intersect at O (see figure). If ZPOB=90° and <POC=30°, then find
£BOD and ZAOD.

fordt fryd # 998 70 cm, 80 em 3R 90 om ¥ THE dEwer I @ifawl 2
(V5 = 2.23 &1 WA Wifs )

Sides of 'a ftriangle are 70 cm, 80 em and 90 om Find its area.
(Use 5 = 2.23)
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Write coordinates of two points on x - axis and two points on y - axis which are at equal
distances from the origin.

WUS-T / SECTION-C

TR = 11 A 20 H TF F7 3 3F ¥

Question numbers 11 to 20 carry three marks each.

11 sy : e 3
— ----'qﬁa“?.aﬂ?bne»%,ﬁf(ab aalt S d e F WA T SIS
* =1 il
If a =2 and b =3, then find the values of (ab + ba) and (a“ + bb)
S5 SN 4_1 = e 11(121) /2 1A T AR ¢
(216) /4 (256) /4
= |
Find the value of ——— - —S— + 110121 /2
(216) A (256) //4
13 e F : a—b—ad+ b3 | 3
Factorise : a—b—23 + b3
i _
14 TUAEE HINT : 2753 — (3x—y)3 3
/ Factorise : 273 — (3x—y)3
15 FR F A x4y =w +2 §, A Tag Fifvw fF AOB & Ta @ ¥ 3
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In the figure, if x + y=w+z, then prove that AOB is a straight line.

16 for ¥ GM @R HL % ZAGH TIZGHD ¥ Taifgaeis 56 WhR & fF GM||HL &1 =g & 3
ABCD®1 . .

T H D

In given figure, GM and HL are bisectors of ZAGH and £GHD respectively, such that
GM|HL. Show that AB||CD.

17 FE A = +30 T 2= +15) &1 £3F L4 F1AH TR FIWC 3

S
X
7

g
‘1%6\

In figure, if [|jm and £1=(x +30%), and £2=(2x+15°), find £3 and £4.

| 1%
18 _mﬁﬁ,ﬁmﬁ@ﬁpﬁ?qﬁ@mr'wmwm%%a :23=8:7 3
1 gt w1 7@ s
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In the figure, two parallel lines p and q are intersected by a transversal r such that
22 : £3 = 8 ; 7.Find all the angles.

3 H, ABCD U if @1 AB %1 7w fg F & 7 BC % h-foerd BE %1 af &1wel (AFBE) = 3

108 cm? &, 1 AB #1 ofarE F1d FifT |
C

s

A F B

In the figure, ABCD is a square. F is the mid - point of AB and BE is
one - third of BC. If area (AFBE) = 108 cm?, find the length of AB.
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20  eE wEE W, T g PE, - 5% wefied FifTT -3 iR -1 ¥ foig P e FY
mmeﬁm%ﬁﬁgm Q ¥R ¥ ~ QPR Y 7T T ST TEC|

On the graph paper, plota pomt P(5, ~ 5). Reflect P in y-axis and y-axis and let these points be
Q and R respectively. Guess the measure of 2 QPR.

@UE-2 [ SECTION-D

e e 21 @ 31 F Wedsw 4FFEI

Question numbers 21 to 31 carry four marks each.

a 1
A HfT :
4 1+J2- NZENE

3

b .+ .
T B
1 3 1
h -+ -+ "__+
Simplify : ——7="* 5 " rda T W
'% x-z 3

\/wm(ﬂy\f;} xy y

i, =
sinplity: (ST vl i’

B o o - %““%,a@qﬁwmxﬂwﬁwﬁl afe 4, 9 7w T T
FifoC | |

Verify if ~ 35 and -52— are zeroes of the polynomial 4:3—21x—10. If yes, then factorise the
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26

27

polynomial.

IqfE a+b+c=53MRab +be+ca=10, & fag FYF : a3 +b3+ 3 —3abe= ~25%|
fa+b+c=5and ab + bc+ca=10, then provethata3+b3+c3—3abc= —25

Wga'ﬂﬁq :(a24b2)3+(b2_52)3+(62_a'2)3 L

Factorise : taz -b2)%+ (b? & 2?3 +(c2-a?)?

TF IUgT FAGITRT 1 ST FA gY, (997)° 1 HH FeRifEw)

Using a suitable identity. Evaluate (997)3.

I o T D PR we ¥ S uw g S 8 g €, S e gl o <uien v 81 w6
2R A @ we PISTRR 9T, SR SRER 79 32 A S B 2 W | T R T e
1 EE T &2 T e S T el % il § R ater S wwa ¥ Zwzx FAE
T I |

Shyam lal has two triangular plots connected to each other as shown in figure. He thought to give the
bigger triangular part to his daughter and son equally. What value he is exhibiting by doing so ? How a
triangle can be divided into two parts of equal area ? Also find the value of ZWZX.

S




28 =YW ABCD ¥ AB 741 CD H9¥: 9 ¥ B qe W § 5y ¥ fag e - R 3
@ zAszC (i) «£B>sD

4D

B . TR
AB and CD are respectively the smallest and longest sides of a quadrilateral ABCD. Show
that ZA>/Cand £B>«4D

2 fag A 6 S Py et 2 § af o B & @ P ik s siada yon g B % 4
1 RVl SR 3T SHerta o % wues Bt ¥

Prove that two triangle are congruent if two angles and the included side of one triangle is
“equal to two angles and the included side of the other triangle. -

30 fow g e af ) wwen g F, O e ® 0 qo 9 =7 S, g B F 9 g 4
=7 11 % S A, 1 S Prger gatrem 9 #)

In two right angled triangles, one side and acute angle of one triangle are equal to one side
and the corfesponding acute angle of the other triangle, prove that the two triangles are
congruent. : ;

31 guigy i wee e & ol ot o ov el @ sifi 4
Show thatin a right triangle the hypotenuse is the longest side. -

Page 9 of 10

ST T o




